ElecrtoYou - WALTERmwp

aggiornamento: 8/10/15

RI[R10(R11|R12

R14

R13|R14|R15|R16

10
RBO AL 1
R 3 9
RB1 1
—R3 5 ICc2 11
RB2 1
RB3 R 7 13
15
2| 4] 6| 8
o5 qlee 11e 112110 =
RB4 -
RES T R6 3 9
—GRl 5 1c3 11
RB6 1
RBT R T 13
15
2| 4] 6|8
RD3 RA3
RD2 RA2 1] 2| 3| 4 5| 7[10]11 1| 2| 3| 4 5| 7{1011
RD1 RAL E DdpC GBFA E DdpC GBFRA
RDO RAO Y
F B
G
E C
D
digl  dp dig2 dig3 digd digl dig2 dig3 digd
digl 2 3 4 DY1 dig.1 2 3 4 DY2
12| 9] 8| 6 12] 9] 8| 6
o olde| =
R 1 16
L 14
Em 5 Ic4 12
R0 T 10
| -
15 [13 |11 |9
2| 4] 6|8 L
R 1 16
R 3 14
R 5 1c5 12
— R24 7 10
| -
15 |13 [11 |9




